Computer Proficiency Certification Test

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : Computer Proficiency Certification Test 1st January 2022 Shift 1
Subject Name : Computer Proficiency Certification Test
Creation Date : 2022-01-01 15:32:21

Duration : 95

Total Marks : 75

Display Marks: Yes

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : No

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : Yes

CPCT

Group Number : 1
Group Id : 2549893163



Group Maximum Duration : 75

Group Minimum Duration : 75
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 75
Is this Group for Examiner? : No

COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL IT SKILLS AND

NETWORKING
Section Id : 2549895063
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52
Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895104
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 25498943355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is Windows Explorer?

Options :

1. * A drive

2. % APC



3. # A web browser

4. ¥ File management application in Windows

Question Number : 1 Question Id : 25498943355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Windows Explorer &1 %‘?

Options :

R COCIECE

2. % U W (PC) B

3. % U IS TSR 8

4. ¥ Windows (fdSIST) # WIgd UseH H &1 TAIHIH §

Question Number : 2 Question Id : 25498943358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A controlling unit of a micro-computer, fabricated on a small chip is also called as:
Options :

1. ¥ Microprocessor

2. % Port

3. % Slot

4. ¥ Board

Question Number : 2 Question Id : 25498943358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HIZH]-H R B AU IHTE, S U BT fu R Bfsbe B gs g1l 7, 39 Wt RIS R
Options :

1. ¢ HISHIYIRRR

2. % U

3. % Wic



4. % S5

Question Number : 3 Question Id : 25498943362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
software is a set of programs designed for specific uses and application.
Options :
1. ¥ Application
2. % Firmware
3. % System

4. % Processor

Question Number : 3 Question Id : 25498943362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

_ WigedeR R IuET iR Sy & e fEwsH fbw U wrich e T U WHE B
Options :

1. ¢ HRIHIH

2. % HHRR

3. % ey

4. % IR

Question Number : 4 Question Id : 25498943364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the relatively fastest storage medium?
Options :

1. ¥ Register

2. % DRAM

3. ¥ Hard disk

4. % DVD



Question Number : 4 Question Id : 25498943364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
3miféres T I RYfefad & ¥ oIF 971 9a9 dl HSRUT A1H 82
Options :

1. ¢ AT

2. % DRAM

3. % gIs fewh

4. % 3idtal (DVD)

Question Number : 5 Question Id : 25498943423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a touchscreen technology?
Options :

1. # Resistive

2. # Capacitive

3. % Digital

4. % Acoustic wave

Question Number : 5 Question Id : 25498943423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AR # 9 PIF Tt U T=ebH cerialoit a1 o7
Options :

1. % IASfRed

2. % pufdfed

3. ¢ f&fored

4. % JHPIRTH dd



Question Number : 6 Question Id : 25498943425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A flash memory is also called:
Options :

1. * Primary memory

2. % Tertiary memory

3. # Volatile memory

4. % Magnetic memory

Question Number : 6 Question Id : 25498943425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR AR &1 fFafoRad & 9 &1 $g1 91 62
Options :

1. % e gt (Primary memory)

2. ¥ T‘Fﬂzﬁf TR (Tertiary memory)

3. % SRR AARY (Volatile memory)

4. ® W AR (Magnetic memory)

Question Number : 7 Question Id : 25498943356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
consist/consists of the step-by-step instructions that tell the computer how to do its work.
Options :
1. ¥ An Algorithm
2. % Hardware
3. # Data
4. ¥ Objects

Question Number : 7 Question Id : 25498943356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

B RULERU P S § S e B ad1d § b 98 A pH a2
Options :

1. ¢ Had fafd (sremiym)

2. % GIEAW

3. % ga

4. % LIl (3fTsoid)

Question Number : 8 Question Id : 25498943359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
invented the mechanical calculator for adding numbers.
Options :
1. # Charles Babbage
2. % Newton
3. ¢ Blaise Pascal

4. % Peano

Question Number : 8 Question Id : 25498943359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

 Aden e b R aite Sagac B s B
Options :

1. % Iy dadl

2. % A

3. ¥ 9 URGA

4. % M

Question Number : 9 Question Id : 25498943369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



COBOL comes under:

Options :

1. ¥ high level programming language
2. ® assembly level language

3. #* machine level language

4. # non procedural language

Question Number : 9 Question Id : 25498943369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HIEd (COBOL) 9 H 9 forg & siafd smarg?
Options :

1. ¢ I SR T HIST

2. % 3TNl TRIY HIST

3. ® R TR HIWT

4. % IR-YfhATED T

Question Number : 10 Question Id : 25498943371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following memories has the relatively shortest access time?
Options :

1. ¥ Cache memory

2. % Magnetic memory

3. ¥ Magnetic core memory

4. % RAM

Question Number : 10 Question Id : 25498943371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frafeied o 9 forg TRt & ST I9d SUefThd &3 gidl 82

Options :



1. ¢ B AARY
2. % I AR
3. % JaBIg HR AART

4. % RAM

Question Number : 11 Question Id : 25498943422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an attribute for a biometric sensor?
Options :

1. # Vein pattern

2. % Fingerprints

3. % Blood group

4. ¥ Hand geometry

Question Number : 11 Question Id : 25498943422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fofifed & 9 319 Smis YR 3 fa=ivar 78t o2
Options :

1. % 39 Ue (9 ufo=u)

2. ® fhRfle

3. v &S 0 (& P

4. % §S W (BTY I SATHT)

Question Number : 12 Question Id : 25498943424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With respect to computer display device, LED stands for:
Options :

1. ¥ Light Emitting Diode



2. # Light Emitting Display
3. % Left Emitting Diode
4. # Light Emission Display

Question Number : 12 Question Id : 25498943424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

H foud fearsa & ey H, Ta 3 81 (LED) &1 1 91 Hufifea # 4 s a g2
Options :

1. ¢ 3¢ UHTET SRS (Light Emitting Diode)

2. % qr3c UATET {8 (Light Emitting Display)

3. % AU THET SIS (Left Emitting Diode)

4. % qr3c UARM fe (Light Emission Display)

Question Number : 13 Question Id : 25498943407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What will be the output for the function ROW(B3) in an OpenOftice Calc?
Options :

1. %1

2.%2

3.3

4. % 4

Question Number : 13 Question Id : 25498943407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

319 3{fh Y e (OpenOffice Calc) H HaRH ROW(B3) HT FT 3T3TYC BRI
Options :

1. %1

2.% 2



3.¢3
4. % 4

Question Number : 14 Question Id : 25498943427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to evaluate answer sheets in which answers are marked with pen or pencil?
Options :

1. ¥ MICR

2. ¥ OMR

3. % Hand-held scanner

4. % Barcode reader

Question Number : 14 Question Id : 25498943427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o 1 U 3§ FIfRd STRI aTd ST UHd! & i g MafaRagd H 9 ford SuanT fan S g2
Options :

1. ¥ MICR

2. ¥ OMR

3. % %3—%@' TR (Hand-held scanner)

4. % FRDIS IS (Barcode reader)

Question Number : 15 Question Id : 25498943428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is an output device?
Options :

1. ¥ Speaker

2. % Microphone

3. % Stylus

4. % Joystick



Question Number : 15 Question Id : 25498943428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frafafad @ 9 & 91 U sM3eye fSarza g2
Options :

1. ¢ W (Speaker)

2. % W(Microphone)

3. % IS (Stylus)

4, ® W(Joystick)

Question Number : 16 Question Id : 25498943373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of given statements?

(1) Software can be physically touched and can be used and seen.
(i1) An example of Software is hard drives, monitors, CPU, scanners, printers etc.

Options :

1. % (i)-True, (ii)-False
2. # (i)-False, (ii)-True
3. ® (i)-True, (ii)-True
4. ¥ (i)-False, (ii)-False

Question Number : 16 Question Id : 25498943373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fFufefead & 9 F-31 faw ey 3T U Hy=1 &1 TadT BT T 33T 90 Har g2

(i) AMTEaTR BT Hifdd U I AT ST Tohdl g AR STBT SUANT fohdT IUT S [T off Tl ¢ |
(i) GTTCITR o1 T IaTeR0I BT J5d, AHex, WG (CPU), Wb, fifex 3fe |

Options :




1. % (1)-9, (ii)-319d
2. % ())-319, (ii)-9d
3. % ()9, (ii)-9d

4. ¢ ()-319d, (ii)-3Td

Question Number : 17 Question Id : 25498943382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With reference to sound, pitch increases when increases.
Options :

1. # decibel

2. % intensity

3. ¥ frequency

4. % timbre

Question Number : 17 Question Id : 25498943382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

G FTeHd  Fg R A (pitch) 9¢ T B
Options :

1. % Sdlgd

2. % e

3. ¥ Mg

4. #® Y (timbre)

Question Number : 18 Question Id : 25498943392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
resolution means quality images.

Options :

1. % Lower, higher



2. ¥ Higher, higher
3. % Higher, lower
4. ® Wider, lower

Question Number : 18 Question Id : 25498943392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feoifeg= &1 31f § TOTaRT aTelt B |

Options :

1. % g, 3=
2. ¥ 3o, 3
3. % 3=, g
4. % I, Y

Question Number : 19 Question Id : 25498943393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What does BIOS stand for?

Options :

1. ® Business Intelligence Output System
2. ¥ Basic Input/Output System

3. # Basic Input Output Session

4. ® Basis Input Output Structure

Question Number : 19 Question Id : 25498943393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

BIOS T JUf &Y 1 52

Options :

1. % fooHg Sc\il?h;l{-l 3{13cYc Rey (Business Intelligence Output System)
2. ¢ IR® <TYc / 313cYc Req (Basic Input/Output System)




3. % SR® $7YC 3M3eYe UM (Basic Input Output Session)
4. % 9R9 2TYC 3M3CYC I¢RR (Basis Input Output Structure)

Question Number : 20 Question Id : 25498943398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following web browsers was developed by Microsoft?
Options :

1. ¥ Mozilla

2. % Chrome

3. # Opera

4. ¥ Internet Explorer

Question Number : 20 Question Id : 25498943398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

19 7 {53 9d TSR 1 AgehIITe gRT faep R fobar mam g2
Options :

1. % AT (Mozilla)

2. % DI (Chrome)

3. % 3R (Opera)

4. ¢ AT TRTWIRR (Internet Explorer)

Question Number : 21 Question Id : 25498943408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which among the following best describes the steps to diagnose the problem of hard drive disk failure?
Options :

1. ¥ Check its physical connectivity -> check BIOS setup -> check for boot sector viruses -> check for valid partitions -> check for valid file
system

2. % Check its physical connectivity -> check for video card -> check for boot sector viruses -> check for RAM -> check for valid file system

3. # Check its physical connectivity -> check BIOS setup -> check if SMPS fan is working or not -> check if USB ports are working or not ->



check for valid file system

4. ® Check its physical connectivity -> check CPU heat sink -> check for boot sector viruses -> check if antivirus software is working or not ->
check for valid file system

Question Number : 21 Question Id : 25498943408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1S 913 few A (Fey3R) & GHwr &1 g o & oY g 7 § SH-91 ey =Rl o1 39 H fexarar 82

Options :
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3. % 3D! Hifdd PAfGede] S -> BIOS V3T ST -> S fob T SMPS URal HTH R g1 8 T 8] -> USB UIc HTH HIIQ & IT T8l
Wi B > 3¢ HIsd RIREH P offd B

4. % ZgPH! HIfdd dfaefac! oid -> CPU Ble-Ridh &1 offd HX -> §¢ Jdex iRy & g offd -> TSRy Atedar &1 & 61 ¢ a1 el
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Question Number : 22 Question Id : 25498943363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a benefit of using a network?
Options :

1. ® File security

2. % Peripheral sharing

3. ¥ Protection from viruses

4. ® Easy access to data

Question Number : 22 Question Id : 25498943363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9 7 9 HH-91, Aedd IUNT BT Th 14 g1 82



Options :

1. % hIgd &l

2. % YR HIAHT

3. ¢ dRRY Y W&

4. % 3T dd T Ugd (TRN)

Question Number : 23 Question Id : 25498943367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is an example of access control system.
Options :
1. % Wi-Fi
2. % Hotspot
3. ¥ Access card
4. % Modem

Question Number : 23 Question Id : 25498943367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ugd fg=01 yuirelt (T dheid RIed) &1 Uh 3a1eru g |

Options :

1. % dI5-WTg
2. % glewWie
3. ¥ TR Bls

4. % OlgH

Question Number : 24 Question Id : 25498943368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A web browser may deny access to a website or at least warn the users when security of the website is expired.
Options :



1. # code
2. % certificate
3. # program

4. ¥ protocol

Question Number : 24 Question Id : 25498943368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
W?mwmmmﬁﬁéwewvuw%mmH@rmeﬁﬁaﬂﬂﬁ%W%wwaﬁT TH &1
NG

Options :

1. ® Bl

2.« JHIUOA

3. % UIH

4. % TTa

Question Number : 25 Question Id : 25498943381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A laser printer does NOT use:
Options :

1. ¥ a ribbon holder

2. % alaser beam

3. % a photoconductive drum

4. # atoner cartridge

Question Number : 25 Question Id : 25498943381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AoR flier T ITANT G HRl 5|

Options :



Question Number : 26 Question Id : 25498943389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TIFF images are images.
Options :

1. #* highly compressed

2. % compressed

3. % uncompressed

4. % DCT transformed

Question Number : 26 Question Id : 25498943389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TIFF Bfaat B g 5
Options :

1. % I guUlfed

2. % JUifed

3. ¢ 3ruifed

4. % DCT CIAHIHS

Question Number : 27 Question Id : 25498943397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A computer that hosts a website on the internet is called
Options :

1. ¥ Web Server



2. ®* Web site
3. % Web page
4. % Web browser

Question Number : 27 Question Id : 25498943397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T SR ol e3¢ R U JITEC Pl BRe 1 § I8 SIS g
Options :

1. ¢ 39 gav
2. % qg UIRC
3. % dg U9
4. % 99 FIIIR

Question Number : 28 Question Id : 25498943372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The printing technique in which characters are produced by using metal pieces is called:
Options :

1. # matrix font

2. ¥ solid font

3. # page font

4. % paragraph font

Question Number : 28 Question Id : 25498943372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fifET &t fog a1 | 4T & Cha! BT SUTANT HRP 3HeR FTE SI1d 52
Options :

1. % AT ic

2. ¢ Fifers Wic




3. % U9 Bie
4. % TG Hie

Question Number : 29 Question Id : 25498943410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Where are Windows 10's default icons located?
Options :

1. ¥ C:\Windows\System32

2. ® C:\Program Files\Windows

3. % C:\Program Files->Windows

4. % C:\Users\Windows\System32

Question Number : 29 Question Id : 25498943410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Windows 10 & fSiec 33 Bl 1UYd 57
Options :

1. ¥ C:\Windows\System32

2. # C:\Program Files\Windows

3. # C:\Program Files->Windows

4. # C:\Users\Windows\System32

Question Number : 30 Question Id : 25498943411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mounting of a file system means:

Options :

1. # creating a file system

2. % deleting a file system

3. ¥ attaching a file system to a directory structure

4. ® removing a portion of a file system from a directory structure



Question Number : 30 Question Id : 25498943411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frdl pea e Ak swrerf  gargl

Options :

1. % & wrgd Red &1 a9

2. % {3t Bred Ry &1 f$dile H31

3. ¢ Tl R TR TRemT (SRa! o) H Uh hisd RIeH &I Jad &l
4. % I3 Wk Y Wigd ey o fg. &1 Rgd =1

Question Number : 31 Question Id : 25498943357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A website is a collection of:

Options :

1. ® Web server

2. ¥ Web pages

3. ¥ Web browser

4. % WWW

Question Number : 31 Question Id : 25498943357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
dearse e o 9 frae 908 o
Options :

1. % 3§ qR

2. ¥ d9 U

3. % J9 FI¥eR

4. % WWW



Question Number : 32 Question Id : 25498943360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cross reference option is available in which of the following tabs of MS Word 2016?
Options :

1. ¥ VIEW

2. % TABLE

3. ¥ REFERENCES

4. % FORMAT

Question Number : 32 Question Id : 25498943360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I XHXY fadhed MS Word 2016 P FEfIRad # ¥ forg ¢ & Iuas g2
Options :

1. % VIEW

2. % TABLE

3. ¥ REFERENCES

4. % FORMAT

Question Number : 33 Question Id : 25498943361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which key is used to start a slide show in MS PowerPoint?
Options :

1. ® F3

2. % F1

3. % F2

4. ¥ F5

Question Number : 33 Question Id : 25498943361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

MS PowerPoint H TT8S XN Y[& B & T4 o Grolt &1 YA a1 STl 82
Options :

1. % F3

2. % Fl

3. % F2

4. ¥ F5

Question Number : 34 Question Id : 25498943370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is a software application that helps groups of people on a network to work together and share information.
Options :
1. # Firmware
2. ¥ Groupware
3. % Liveware
4. ¥ Middleware

Question Number : 34 Question Id : 25498943370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

UH T dTR TEHH R § Sl Hedd IR NN & Wig! Dl T 1Y HTH B 3R STHGR] A1g d3- § 7GE didl g |
Options :
1. % HHAR
2. ¢ JUIWR
3. % TIRI R
4. % TSAIWR

Question Number : 35 Question Id : 25498943380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following buttons (icons) is clicked in MS Word to display paragraph and other hidden markers?



Options :

1. # View

2. ¥ Show/Hide
3. # Editing

4. % Font

Question Number : 35 Question Id : 25498943380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word H REferiad & T ford e (3mge) IR fade &3 IR IREME 3R 317 30 AT uefRid gid 82
Options :

1. ¥ & (View)

2. ¢ T/BTZS (Show/Hide)

3. % TS (Editing)

4. % i< (Font)

Question Number : 36 Question Id : 25498943383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to open Find & Replace window in MS Word?
Options :

1. ¥ Ctrl+H

2. % Ctrl+R

3. % Ctrl+F

4. % Ctrl+S

Question Number : 36 Question Id : 25498943383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
MS Word ¥ 158 U8 Rwy fdst @ieq & forg #1eis Qe Mafafad # aarg?

Options :



1. ¥ Ctrl+H
2. # Ctrl+R
3. % Ctrl+F
4. #® Ctrl+S

Question Number : 37 Question Id : 25498943384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The "Compare" command option is available under menu tab in MS Word 2016.
Options :

1. # Home

2. ¥ Review

3. # Insert

4. ® View

Question Number : 37 Question Id : 25498943384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H B d & il SR HHTS f[dhed Juas gidl g |
Options :

1. # aﬁ(Home)

2. ¥ R (Review)

3. % ET\‘TC;(Insert)

4. % Y (View)

Question Number : 38 Question Id : 25498943413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While working on a document, how can you open an another existing document in MS Word 2016?
Options :

1. # File — New



2. ¥ File — Open — Select Document
3. % SHIFT+O
4. ¥ ALT+O

Question Number : 38 Question Id : 25498943413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 7 Teh GEITA TR HTH $HRd JHY, 3T T 3R He[el S&Iasl $d G Jbd 82
Options :

1. % Blgd — g

2. ¢ BIgd — U — Yol SIRTHT

3. % SHIFT+O

4. % ALT+O

Question Number : 39 Question Id : 25498943415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After completion of work, your Word document file needs to be saved. Which of the following can be used for this purpose?
Options :

1. ¥ Go to File menu, then click Save As

2. % CTRL+V

3. % Press F10

4. # Shift+Enter

Question Number : 39 Question Id : 25498943415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS WI3d H HTH B R B & 913, 3U Ygol- & ATaHd 8! ¢ | 3P e 9 & J fegest IuainT foar s aedr g2
Options :

1. ¢ TT3d T TR SITY 3R R Save As WR fadds &3

2. % CTRL+V




3. % WY F10 ST
4. % Shift+Enter

Question Number : 40 Question Id : 25498943365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Money can be transferred through BHIM:
Options :

1. ¥ anytime

2. # only on working days

3. % only during first week of a month

4. % only till 6:00 pm

Question Number : 40 Question Id : 25498943365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mo mea AR RMIdRT B ST bdl |
Options :

1. ¢ Tt i Ie

2. % $Had p feaai o

3. % $9d TP HgH & Ugd UwIg & GRM

4. % DHId UG 6.00 ol dIb

Question Number : 41 Question Id : 25498943366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following charts is used to show trends over time?
Options :

1. # pie

2. ¥ line

3. % bar



4. * area

Question Number : 41 Question Id : 25498943366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e & & S 91 91¢ 999 & A1 T ("trend") fea™ 3 fore IuiT foa S 62
Options :

1. % U8

A NIED

3. % dR

4. % TR

Question Number : 42 Question Id : 25498943377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Change Case option 'Capitalize Each Word' is also known as in some of the older MS Word versions.
Options :

1. ¥ title case

2. # lower case

3. % upper case

4. % virtual case

Question Number : 42 Question Id : 25498943377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FO RA MS I8 YWHRUN H IS 59 fddhed ‘BUCHISH 99 I8 (Capitalize Each Word) B & &0 H Wl SHI STl |
Options :

1. ¢ Tgcd by

2. % ISR &Y

3. % Ry

4. ® THHA HY




Question Number : 43 Question Id : 25498943379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid command option in Layout menu tab of MS Word 2016?
Options :

1. % Margins

2. # Orientation

3. % Size

4. ¥ Navigation Pane

Question Number : 43 Question Id : 25498943379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FAfRad & ¥ &9 91, MS Word 2016 & W3MT3C A ¢§ H U 94 HHIS [dded -1g1 g2
Options :

1. % {Ifol=g (Margins)

2. % 3fiUCEH (Orientation)

3. % IS (Size)

4. ¢ AR U9 (Navigation Pane)

Question Number : 44 Question Id : 25498943385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to copy the formatting of a selected text and apply to other texts in MS Word?
Options :

1. ¥ Format Painter

2. # Change case

3. % Copy — Paste

4. # Cut — Paste

Question Number : 44 Question Id : 25498943385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

%/IS Word H U T UTS &1 TN (BIHTET) STdt - 3R 39 UTa 1 UR e &’ & fore Fuferiaa & @ fara o1 Iuai farar S
N

Options :

1. ¢ TTHE Uex (Format Painter)
2. % JIHY (Change case)

3. % BIUl — UKC (Copy — Paste)
4. % P — U (Cut — Paste)

Question Number : 45 Question Id : 25498943386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What do you understand by justify alignment?

Options :

1. % All the text shift towards left.

2. ¥ Add space between words so that both edges of each line are aligned with both margins.
3. # All the text shift towards right.

4. ¥ Text is in center.

Question Number : 45 Question Id : 25498943386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SR TATSTHE (justify alignment) §IRT 31T T THSTA 82
Options :

1. % gt TRe 91 3R e 81 ST &

2. ¢ Vgl & dF Nad I SSdl 8 a1 U Ufad & el fB-R, Sl Ao o 1 TRRad 8|
3. % Pt e 12 3R R g STt B

4. % TeE A H @) TG B

Question Number : 46 Question Id : 25498943409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process of sending files from your computer to other computers over internet is called:
Options :

1. ¥ Uploading

2. % Downloading

3. % Browsing

4. # Crawling

Question Number : 46 Question Id : 25498943409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Seie b T R ST SR Y 3 SRR wree R &) Ufea @ Aufid 3 4 0 oE a6 2
Options :

1. ¢ 3OAfST (Uploading)

2. % W%T(Downloading)

3. % W(Erowsing)

4, % W(Crawling)

Question Number : 47 Question Id : 25498943412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

New PivotTables are in Layout by default.

Options :

1. # Tabular

2. % Compact

3. # Liner

4. % Qutline

Question Number : 47 Question Id : 25498943412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



73 fdic ¢oa wWa: RuiRa sy A3 H B B

Options :

1. # %@FIT(Tabular)

2. ¥ W(Compact)
3. % QIR (Linear)

4. ® 33l (Outline)

Question Number : 48 Question Id : 25498943414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In default page orientation in MS Word, the width of a page is than the height of the page.
Options :

1. ¥ less

2. % greater

3. % equal

4. % greater than or equal to

Question Number : 48 Question Id : 25498943414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word & Ta: F1eiRd 01 SINGCRH H, I P ASR U Bl HaAls A/d6 gl g
Options :

1. ¥ ®©H

2. % gg}

3. % IR

4. % 3D I YD SIS

Question Number : 49 Question Id : 25498943378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the smallest font size that can be selected from the drop-down list in MS Word?



Options :
1. # 11
2. % 4
3.8
4. % 10

Question Number : 49 Question Id : 25498943378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word H ST0-813 gt ¥ fFafefad &  forg gad 81 Wi TR & Iaid foar S bl 82
Options :

1. * 11

2.% 4

3.8

4. %10

Question Number : 50 Question Id : 25498943394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Using which shortcut key combination, user can create a hanging indent in MS Word?
Options :

1. # CTRL+R

2. % CTRL+I

3. % CTRL+H

4. ¥ CTRL+T

Question Number : 50 Question Id : 25498943394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word &, 81T §8¢ s & fore g o 9 fora wiidare ol o o1 WanT farar o wehar 82
Options :

1. * CTRL+R




2. % CTRLHI
3. % CTRL+H
4. % CTRL+T

Question Number : 51 Question Id : 25498943396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In MS Word, a is a large capital letter used as a decorative element at the beginning of a paragraph or section.
Options :

1. ¥ drop cap

2. # strikethrough

3. # indent

4. # gpacing

Question Number : 51 Question Id : 25498943396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word &, T IS8T Hfed 31&R TiaT § foraes! SuaiT fardt TRIE a1 Ja=H & YH31d & Jollac! dd &b &0 H foar S 3|
Options :

1.« S B

2. % WEHY

3. % §8¢

4. % QYT

Question Number : 52 Question Id : 25498943429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Streaming data moves efficiently across the Internet by being broken up into little bits known as:
Options :

1. ¥ packets

2. # bytes



3. # nibbles
4. % blocks

Question Number : 52 Question Id : 25498943429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

STCT 1 3¢ WR T GUTdT &7 4 ¥ A & forg Fafafea & 3 for Bic Tt # fawfora fovar sirar g2
Options :

1. ¥ ﬁm (packets)

2. % dgcH (bytes)

3. % fA9& (nibbles)

4. % SR (blocks)

READING COMPREHENSION

Section Id : 2549895064
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895105
Question Shuffling Allowed : Yes

Question Id : 25498943401 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.



The Tiger and the Crane

Once upon a time, in a thick forest there lived a ferocious tiger who found pleasure in killing animals, even when he was not hungry. All the birds
and animals feared him and used to avoid him.

One day the tiger killed an animal and while eating it, a small bone got stuck in his throat. The tiger was in great pain. He started crying and
requested each bird and animal in the forest to take out the bone. But no one came to help him. Finally he announced a reward for whoever
helped him. Still no one dared to come near him because nobody trusted him. They knew that the ungrateful tiger would kill the helper as soon as
the bone was taken out.

The tiger continued to feel miserable and kept pleading for help. Finally, seeing the miserable condition of the tiger a kind crane took pity on him
and said, "See, your reputation is bad. No one trusts you. But, if you promise me a reward and also promise that you would not kill me after your
bone is out, I am ready to help you."

The tiger said, "How can I kill a kind friend who will bring me relief from this pain? I promise not to kill you and also promise to reward you
lavishly as per your wish."

At this, the crane inserted his long neck into the tiger's mouth and with his sharp beak pulled out the bone quite effortlessly. As soon as ungrateful
tiger replied, "You foolish crane, how dare you ask a reward from a tiger? Thank your stars that you've not been killed. Had I not been kind, you
would not have been living: I could have crushed your head when you had inserted it in my broad mouth. Consider that as your greatest reward."

Sub questions

Question Number : 53 Question Id : 25498943402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage, which of the following did NOT have a good reputation?
Options :

1. # The crane

2. % The tiger

3. % All the birds

4. % All the animals

Question Number : 54 Question Id : 25498943403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The tiger was pleading for help because



Options :

1. #® he was hungry but not able to eat

2. ® he was feeling lonely and abandoned
3. % abone had got stuck in his throat

4. % he wanted to kill another animal

Question Number : 55 Question Id : 25498943404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

None of the animals in the jungle wanted to help the tiger by pulling out the bone because
Options :

1. # they were scared of his strength

2. # they wanted a bigger reward

3. # they wanted him to suffer

4. ¥ they did not trust him

Question Number : 56 Question Id : 25498943405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
How did the tiger finally reward the crane?
Options :

1. # By promising to reward her lavishly.
2. % By threatening to crush her head.

3. # By retorting back angrily.

4. ¥ By sparing her life.

Question Number : 57 Question Id : 25498943406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After reading the story we can say that the tiger was
Options :

1. ¥ ungrateful

2. % 3 good friend



3. % proud

4. # just and fair

Question Id : 25498943401 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)

faT 7T Y ) UfRT SR IS TG 3 T Uil & IR i
9 3R IRY

TP JHY P! 91d §, U IR T 1 SHe H U YWR a9 384T AT, o STHaR! &1 AR # =it fiyerdt off, vat 81 98 yar 7 81 @t ueft ok
SR ITY S & 3R I 9 BT Y Hd U
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Sub questions

Question Number : 53 Question Id : 25498943402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TR & SER fohdan! UfasT 3t el ot

Options :



1. % IRY
2. ¥ 99

3. % g geft
4. % g IR

Question Number : 54 Question Id : 25498943403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

JUHee & U IRIY R BIAT RSB
Options :

1. % 98 YW1 o7 aifchT @ & W& el o

2. % T8 3fbell 3R AR HEYH PR 8T Ul

3. JUD Tl H gg1 By 718 ot

4. % 98 U 3R WMdR B HARAT Iedl U

Question Number : 55 Question Id : 25498943404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SR 1 18 Hi SR §g1 FepTer H a9 &1 Hag Tl A T i
Options :

1. % 9399 ygfid g

2. % J 3P TS IR 8 A

3. % d 3 UM <1 918d

4.+ dIY R AYF TR HA A

Question Number : 56 Question Id : 25498943405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
9 3fdd: RY B! o JPd (b
Options :

1. % I YR $7H < BT dTe b |

2. % IP RR B Ao &I YHDB! G|



3. % TR § dadll A |

4.« IBT Sia] I HI|

Question Number : 57 Question Id : 25498943406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HEFI UG h G eH B UDbd g b e Il
Options :

1. ¥ T BRI

2. % Tdh 3B aRd

3. % Tfdd

4. % A R gy

QUANTITATIVE APTITUDE
Section Id : 2549895065
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895106
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498943390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Find the approximate value of following. (Note: You are not expected to calculate the exact value)



(14.99)% — (7.01)% + (4.99)> =2
Options :
1. % 250
2. % 200
3. % 150
4. ¥ 300

Question Number : 58 Question Id : 25498943390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafeiad &1 srmfa T 1 ST (MDA [ &1 7M1 81 B ] 1)

(14.99)% — (7.01)% + (4.99) =2
Options :
1. % 250
2. % 200
3. % 150
4. v 300

Question Number : 59 Question Id : 25498943418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

4 men can complete a piece of work in 2 days. 4 women can complete the same piece of work in 4 days, whereas 5 children can complete the
same piece of work in 4 days. If 2 men, 4 women and 10 children work together, in how many days can the work be completed?

Options :

1. ¥ 1 day
2. # 3 days
3. * 2 days
4. #= 4 days

Question Number : 59 Question Id : 25498943418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

4 =¥ 2 feAt # 58 &1 & U X Fohd g1 38 HA H 4 Agar? 4 GAT A [ FT TR § At
3 FE FF 5 To 4 AT F U T o 21 A 2 T, 4 ARAC AR 10 T TF WY FH H ¢,
ar a8 w4 o fGe & @ & S &7

Options :

v 1 e

) % 3 feH
;% 2 T
4 x 4 &=

Question Number : 60 Question Id : 25498943391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the difference between the simple and compound interest on 37,300 at the rate of 6% per annum in 2 years?
Options :

1. % 29.37

2. ¥326.28

3. % 33141

4. % 323.22

Question Number : 60 Question Id : 25498943391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
% 7,300 X 6 widerd aif¥es & a7 ¥ 2 99 F TRV =31 R Tehgig eai & fohdell 3aT 87




Options :
| % % 29.37

, v %2628
3 % T 31.41

4% T 2322

Question Number : 61 Question Id : 25498943421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a sin®@ + b cos®0 = sinBcos and a tand = b, 0° < @ < 90°, then the value of (a® + b?) is:
Options :

1.¢ 1
2. % 3
1
3 % 4
1
4 % 8

Question Number : 61 Question Id : 25498943421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T a sin6+ b cos0 = sinfcosh HIT atand = b %‘, 0= 8 < QUD,Fﬁ' (az + bz) T HATA FIT gre?



Options :
1.v 1

Question Number : 62 Question Id : 25498943419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class there are 60 students, out of which 15 per cent are girls. Each girl’s monthly fee is 3250 and boy’s monthly fee is 34 per cent more than
that of a girl. What is the total monthly fee of girls and boys together?

Options :

1. ¥ 19335
2. % 18435
3. % 319345
4. % 19435

Question Number : 62 Question Id : 25498943419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T BT 60 B ¢ FA D 15 URANd defpdl § 1 TS ded] &) 7ikie B 250 T 21 3R Uh dsd 31 ARG By U dSh] B
IR B ¥ 34 Ta=Id 3ifeies 8| el & Guft T 3R asfhdl &t A1k HIg ol fdhd-! 82

Options :

1. ¥ 219335

2. % %18435




3. # 19345
4. %= 19435

Question Number : 63 Question Id : 25498943420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a school, some sweets were to be distributed among 420 children on the occasion of Teacher’s Day. But 140 children remained absent on the
particular day and hence each child got one sweet extra. How many sweets would each child have received initially?

Options :
1. %3
2.9 2
3.%5
4. % 4

Question Number : 63 Question Id : 25498943420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. = 3

2. 2



GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549895066
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895107
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498943416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Air : Atmosphere :: Water : ?
Options :

1. ¥ Hydrosphere

2. % Ecosphere

3. * Biosphere

4. % Stratosphere

Question Number : 64 Question Id : 25498943416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



1. ¢ BRSIRPAR
2. % IHINHA
3. % SldHed
4. % WIAMPWR

~

Question Number : 65 Question Id : 25498943417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a certain code language, STOVE is written as FNBLK. How will VOTES be written in that language?
Options :

1. # FLKBN

2. ¥ LBNKF

3. % LKNBF

4. % LNBKF

Question Number : 65 Question Id : 25498943417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T fYd B8 YN H, STOVE &I FNBLK & &0 H foraT offd 8, ) S 18 UTST H VOTES &1 3 feraT SITam?
Options :

1. ¥ FLKBN

2. ¥ LBNKF

3. # LKNBF

4. % LNBKF

Question Number : 66 Question Id : 25498943376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

'Ploughing' is related to 'Aeration' in the same way as 'Manuring' is to '
Options :

1. * Smoothing



2. ¥ Replenishment
3. % Earthling
4. % Agriculture

Question Number : 66 Question Id : 25498943376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS’ T I Y a8 WaY g, S AT ST Bl Iy B
Options :

1. * HIlJH hRl

2. « TI90T GGt

3. % apffef

4. % Py

Question Number : 67 Question Id : 25498943395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain manner.

Kanchenjunga, Anamudi, Dhaulagiri
Options :

1. % Himadri

2. % Zaskar

3. ¥ Nanda Devi

4. % Karakoram

Question Number : 67 Question Id : 25498943395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % feard

2. % GIRHY

3. ¢ aredl
4. % DRIDRA

Question Number : 68 Question Id : 25498943399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the fifth number in the same way as the fourth number is related to third number and the second number is
related to first number.

5:124::9:728::7:7?
Options :
1. # 125
2. % 248
3.9 342
4. % 343

Question Number : 68 Question Id : 25498943399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. #® 125

2. % 248

3. ¥ 342

4. % 343




Question Number : 69 Question Id : 25498943400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.

Options :

1. # Sambhar
2. # Dal

3. # Baikal
4. ¥ Siachen

Question Number : 69 Question Id : 25498943400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % W

2. % g

3. % 9&d

4. ¢ i

GENERAL AWARENESS

Section Id : 2549895067
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 2549895108
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 25498943388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With which of the following games is Davis Cup associated?
Options :

1. # Volleyball

2. % Badminton

3. % Tennis

4. ¥ Handball

Question Number : 70 Question Id : 25498943388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

S Fu s Hey FE A I fraQaq B
Options :

1. % greildre

2. % q8ftfed

3. ¢ ¢

4. % gaId

Question Number : 71 Question Id : 25498943426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The head office of the National Bank for Agriculture and Rural Development (NABARD) is located in:
Options :

1. # Lucknow

2. % Hyderabad

3. % New Delhi

4. ¥ Mumbai



Question Number : 71 Question Id : 25498943426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # qU13

2. % gRIEIG

3. % 3 faeeht

4. Hag

Question Number : 72 Question Id : 25498943374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A 'dual economy' is a mixture of:

Options :

1. ¥ traditional agriculture sector and modern industrial sector

2. # industrial sector and manufacturing sector

3. # state ownership of the means of production in foreign organisations

4. % industrial sector and trading of goods obtained through imports

Question Number : 72 Question Id : 25498943374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 25498943387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is potentially the safest means of disposing of the most toxic wastes: organic solvents, chlorinated hydrocarbons and oil-
base compounds (including PCBs and dioxins)?

Options :

1. ¥ Municipal incineration

2. % Industrial high temperature incineration
3. # Landfills

4. # Disposal in sea

Question Number : 73 Question Id : 25498943387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % TTRUICTDT GRT ST

2. ¢ SRS I AU &8

3. % Tgel H HRAT

4. % g H (AU

Question Number : 74 Question Id : 25498943375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who was responsible for the introduction of the Vernacular Press Act?
Options :

1. # Lord Mayo

2. % Lord Lytton

3. # Lord Ripon

4. # Lord Curzon



Question Number : 74 Question Id : 25498943375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

iR U ST 1 RS 1 99 fobd faa Sira 82
Options :

1. % dls O

2. ¢ QIS fered

3. % dls RuA

4. % QIS doA

Question Number : 75 Question Id : 25498943430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The alkaloid naturally found in coffee, cocoa and kola nut is:
Options :

1. % cocaine

2. ®# morphine

3. # tannin

4. ¥ caffeine

Question Number : 75 Question Id : 25498943430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % BIbH

2. % ARBH

3. % ¢fF

4. FHHA
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Group Number : 2

Group Id : 2549893164

Group Maximum Duration : 5

Group Minimum Duration : 5

Show Attended Group? : No

Edit Attended Group? : No

Break time : 1

Mandatory Break time : Yes

Group Marks : 0
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Section Id : 2549895068

Section Number : 1

Section type : Typing Test
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Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 2549895109

Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498943432 Question Type : TYPING TEST Display Question Number : Yes

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Sub-Section Id : 2549895110
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498943431 Question Type : TYPING TEST Display Question Number : Yes

There are so many beautiful countries in the world that attracts travelers around the world. However, there is one issue and that is of the
weather. Some of the most beautiful countries in the world are warm and hot. Traveling to these hot destinations increases the risk of
illnesses, such as heat stroke and heat exhaustion. If you are used to cold and mild temperatures, then going to a place with hot weather
will be more exhausting for you. If you are planning to go to a country with a high temperature, you must pack some essential things that
will help you survive. The first thing that you should pack to enjoy the trip without any hassles is comfortable cloth. In hot countries, you
should keep one thing in mind and that is to dress as lightly as possible. Wear breathable and comfortable clothes such as cotton and
linen. These fabrics allow air to circulate against your skin to make you feel cooler. You should also cover the most important part of
your body such as the head with a hat or bandana. Sunscreen is also an important thing that you should pack in your backpack.
Summers mean brutal sun. Whenever you are planning to go out in a daytime, you should apply sunscreen. It is not necessary to only use
it when your skin burns. You should use it as sunscreen protects you against the harmful UV rays and helps prevent sunburn. You should
carry a water bottle that will help you keep yourself hydrated. Everyone knows how important it is to keep yourself hydrated. And when
you are in a hot country, you are likely to sweat a lot. Make sure you carry a water bottle with yourself every time you go out. Avoid
dehydrating beverages such as alcohol and sodas. You should carefully eat when you are in hotter countries. If possible, you should avoid
eating oily and greasy food as they reduce the quantity of water in your body. You should eat light food such as salads and green veggies.
You should eat fresh summer fruits that contain lots of water such as watermelons and oranges. Peaches and grapes are also an excellent
source of water. These fruits help in the replenishment of vital micronutrients. You should go for side seeing only after sunset or before
the sun is at its hottest. You should do this to order to avoid hot afternoons. Come back to your accommodation in the afternoon and wait
till the heat outside cools down. You can eat lunch or take a nice nap during that time. The heat can cause lots of health issues, from
rashes and mild sunburns to more serious heat stroke and heat extraction. Aloe Vera and ice packs can help with sunburns. You can also
wet your head with cold water or hold your wrists under cold water. This will quickly bring down your core temperature. If you feel
dizzy and nauseous, consult the nearest doctor immediately. If you pack these essential items in your backpack, you will be able to travel
to hotter countries with ease.
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